EARAROBREBRT —5 XN—ZXBISH—F

202211816H (k) 18mEHMHSH

W C3= UYSR3EL (m | mewE - | v wo
[AE%) 1 &:500,000  ~ 237#&:200,000  337%&:125,000H  43#%&:75,000H 53 :50,000 ™
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
— s JERER0E : -3-3- - AFHE (EH)
15| 5 | 2F—025 - 4 3 b 1.(3_5).3 3-3-3-5 | 41.2 4 %3 e
RANWTT—YI B:RF—JeOqY IR
3~ = 4 | LUEREX 1:35.3 2-2-1-1 | 41.5| — 1 500 | EHES (EH)
] 4| TAYIFRAS * 36.0 F5) o | @ Jr—2tevay
RNT B I—-YVIUTFY SERIS
N < AEE :35. -9-9- . - HERE (BEH)
37| 7| 9477=0Y s 128 7 I el I R -
R:AEILN=T B:vIhYEAL— KFGT 7— L
=~ — 4 5 | WAFER 1:35.6 6-6-3-3 | 41.4| — 10 | 452 |[=BEZ (HEH)
4|8|10|F¥ITVN—T 5.0 F5) (o |EHEE
R:Fvh—0 #:35I70UE bk e
N Wt s 3 | JIRE— 1:36.1 4-4-5-4 | 42.0| - 5 48 |TEE¥E (E@)
5Y 3| NTTvFE 54.0 %) @) |18 F—ILPRZMEE
RiUAVF4—R B:FUAIAY E BRI
ST > TIAED : -10-10~ - REHE (FkR)
6 5 | FIRFNOY 4 5 e 1(73?:)2 10-10-10-10] 41.2 6 (4+618) /J\VMEB;
R:ITVYFFEaTa B:SRT4—7T At A
R . < {E2ARTHRE :36. -1-1- . - BHER (EH)
718l 9 SSILINTY % 5 gon 1(33/64)3 1-1-1-2 | 42.5 3 (4_4;) Elﬂ%s‘z
R:YYRUZURIR §:/fUa—)b LIRS
23 ft 3 | PHEL 1:36.4 7-7-8-8 | 42.0| - 2 409 | KEXEB ()
gl11eF5Y 54.0 ) Chy |PHBE
RU—=FHIS5DY B:SAKPvS e
»— B 7 | AKX 1:36.5 8-8-7-6 |42.0| -— 9 495 | =BEZ (BH)
9|7|8|T=TW 5.0 @i72) 0 | 8 Ir—2revay
RIN—RZIY B:AYRU—XOF 4 — S—L—- Vv XY - T7—LERE
VD HEFE= :38. -5-6- . - thixia (EH)
10 AVEPEFESS 44 e 1(39%0 5-5-6-7 | 43.6 8 ?gf i
RiYIRI4 TSR B:TVI—U =iE =5
@ 11— —BERIEI
13—7F— 9,4,5,3,6,10,1,8,7,2
20— — 9,4,5,3,6,10,1,8,7,2
BEIES /S 4,9, (5,10 ,3,6,8,1,7,2
40—7F— 4,9,10,3,5,8,6,(1,7) ,2
o ILRE
BB 5 7004 JA R 4-5 3804 & 4-5 1,070 3ER 4-5-7 4,400
B B 5 270M4 5-7 1,520 5 & 4-5 1,020 3Es 5-4-7 24,6604
4 160/ 4-7 590 oS- 1 5-4 2,450
7 290M

ABIC OV TRUTEREERRODDZE. THRIIZEL.




